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Vocabulary



[image: ]· Add
· Altogether
· Put together
· Total
· Take away
· Distance between
· Difference between
· More than
· Less than
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3+2=5 5=1+4
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Addition and Subtraction Knowledge Organiser
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Addition and Subtraction
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I partitioned 5
into 2 and 3.
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Fractions Knowledge Organiser
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Fractions Knowledge Organiser

These shapes are split into quarters. There are 8 blocks.
There are 2 in each quarter.
A quarter of 8 is 2.

Capacity and Fractions

The bottle is a quarter full.

The jar is half full.
Each whole has 4 equal parts.
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Length and Height Knowledge Organiser

The dog is taller The cat is shorter The car

than the cat. than the dog. is shorter
than

the train.

The train
is longer
than the car.
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Length and Height Knowledge Organiser
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Knowledge Organiser
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Multiplication and Division Knowledge Organiser
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There are 4 equal groups of
2 bananas.
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Multiplication and Division Knowledge Organiser
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Number and Place Value Knowledge Organiser

One More and One Less

One more than

. One less than
two is three.

eight is seven.
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Number and Place Value Knowledge Organiser

Ordering Comparing

5=5 (.

equals

4<7
less than

8>2

greater than two

@w <t ninton Lewis has the most. Olive has the fewest.




image16.png
Number and Place Value to 20
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Number and Place Value to 20 Knowledge Organiser
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Number and Place Value to 50 Knowledge Organiser
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Number and Place Value to 50 Knowledge Organiser
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Number and Place Value within 100 Knowledge Organiser
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Number and Place Value within 100 Knowledge Organiser
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Position and Direction Knowledge Organiser

Describing Movement Describing Position

The pig is to the left of the hen.
f’ m The hen is to the right of the pig.
The pig is in front of the sheep.

The sheep is behind the pig.

(o8 fOf

three-quarter turn full turn

backwards

The duck is below the doll.

The car is above the doll.
left The car is on the top shelf.
The doll is on the middle shelf.

' The duck is on the bottom shelf.

forwards )
The doll is between the car and the duck.
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Knowledge Organiser

Before and After Days of the Week | | Months of the Year

First, I brush my teeth.

Next, I look at a book.

Finally, I go to sleep.

I brush my teeth before I look at a book.
I go to sleep after I look at a book.

December

visit winkl.com
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Telling the Time

At half past, the minute hand is half way round
the clock pointing to the 6.

The hour hand will be halfway between one hour
and the next.

Knowledge Organiser

Telling the Time to the Hour

At the hour, the minute hand points to 12.

3 o'clock 6 o'clock 9 o’clock

A V\» is faster than a y
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Weight and Volume Knowledge Organiser

Weight and Mass

We can use different types of scales to measure mass.

The duck is heavier than the ball. The teddy weighs the same as 5 cubes.

The ball is lighter than the duck. They are balanced.
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Weight and Volume Knowledge Organiser

We can use different containers to measure volume. Capacity is the total amount of

liquid a container can hold.
~ Volume is the amount of
}‘ @ liquid that is in the container.
- This can vary.

It takes 4 cups to fill this jug. nearly half nearly full
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empty full full

B has more water than A. D has less water than E.
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Addition and Subtraction Knowledge Organiser
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Addition and Subtraction
Number Bonds
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